Shifting from First to Third Position

When shifting from the first to a higher position, do not take the finger up and put it down again;
instead, slide into the higher position.
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Shifting from One Finger to Another

The student should shift forward on the finger that was last down, and likewise, shift backward on
the finger that was last down.

The small note in the following exercises indicates the movement of the finger in shifting, and as the
siudent perfects his ability to shift from one note to another, the small note eventually should riot be

heard,
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Shifting
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